BC Calculus – FDW 3rd Edition – Section 10.3 Even Answers

Quick Review 10.3
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   8. (0,5) & (0,-5)   10. 12.763
Section 10.3
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        4-leafed rose
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  22. x = -3, vertical line   24. x2 + y2 = 1, circle
        lemniscate                   circle  
26. xy = 1, hyperbola   28. (x + 2)2 + y2 = 4, circle   30. (x – 1)2 + (y – 1)2 = 2, circle
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          parabola

   parabola

    ellipse

      hyperbola

40. undefined, 0, 0, undefined   42. undefined, 0, undefined, 1
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A = 4.858   
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 (b) Let 
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BC Calculus – Section 10.3 Even Answers (continued)
62. False. Integrating from 0 to 
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 traverses the curve twice giving twice the area.

64. E   66. D   
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(b) a circle   70.(a)[image: image36.jpg]


(b) negative x-axis
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Quick Quiz – Sections 10.1 – 10.3

2. C   4.(a) 4.382  (b) 2.786  (c) graph gets closer to the origin

Chapter 10 – Review Exercises

2.(a) (-1,-1)  (b) 
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  4.(a) (10,-25)  (b) 
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12.(a) (0,2) & (0,-2)  (b) (-2,0) & (2,0)   14.(a) (0,9) & (0,-9)  (b) (-4,0) & (4,0) 
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        convex limacon

   vertical line

       circle

22. .346   
24. y = ½ , y = -4 and x = 0, x = 
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26. y = x – 1 & y = -x – 1 

28. x2 + y2 = 3x, circle   
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42. Show the dot product = 0 and hence the angle between the 2 vectors is always 90o.
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50. 591.982 mph, 8.179o N of East   
52.(a) 
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 (b) 6.126  (c) t = 4
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